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Section : Domain Knowledge

Q.1 & i e (slip ring) BRoT #lex fi y[wana # gofe (rotar) ufadiy o1 glan &, at |
Ans X 1 1Rk 1uTien HreaT €, U1 Hedt & ofR sl dear @

o 2. uf% oties TeaT &, U Tt § iR sl agar @

25 3. <1k 1uien wrea &, o1 dedt @ SR syl sga 8

X 4. A% TUTieR wed B, URT Tedt § 3R el SgdT &

Question ID : 2752281229
Status : Answered
Chosen Option : 1

Q.2 ufgert v-Hudh (earthing) & fog, STIER wig a1 s¥uTe ufgenr &Y Alerd
gt =nful

Ans o 1.630mm

/X 2.3.30 mm

/5 3.5.30 mm

e

X 4.430 mm

Question ID : 2752281311
Status : Answered
Chosen Option : 2

Q.3 MB type mercury vapour lamps operate at a high vapour pressure of
Ans ( 1. 5to 10 atmosphere

x 2.4 to 10 atmosphere
x 3.3 to 10 atmosphere

x 4.2 to 10 atmosphere

Question ID : 2752281267
Status : Answered
Chosen Option : 3




Q.4 A substance that has low retentiveness can be used for the manufacture of
Ans X" 1 paramagnets

“ 2. electromagnets
X 3. permanent magnets

x 4. bar magnets

Question ID : 2752281288
Status : Answered
Chosen Option: 1

Q.5 ¥ sraua 3-that atedler d a9 3R URT Gl & 3 A= gl &1 el & T Uist HIoT 1 3R
— @

Ans X" 1 90°
X 2.240°
X 3.360°
o 4.120°

Question ID : 2752281215
Status : Answered
Chosen Option: 4

Q.6 Tgfed dls, TR aTSw=-vuifRad Rfvamafm a2l
Ans X 1. 2V I; Cos@

' 2 3VpIp Cos6

X3~v'§vpvp Cos @

X 4 3Vp Iy Cos#

Question ID : 2752281301
Status : Answered
Chosen Option: 1

Q.7 ¥ uehR &l Alex A srderepd ATgeft RN aemgpf gar &2
Ans  off 1. ufeRie smeT SRoT AT HieR

75 2. el s e wer Hiex
X 3. el e IRoT Arer Hier
25 4w wie

Question ID : 2752281235
Status : Answered
Chosen Option: 4




Q.8 The operation of moving iron meter is based on the

Ans X 1. electro-static effect
x 2. heating effect
( 3. electromagnetic effect

x 4. induction effect

Question ID : 2752281205
Status : Answered
Chosen Option: 1

Q.9 Supply to no-volt coil in a DOL starter is maintained after releasing the start button (switch)
through .

Ans & 1 start button

x 2. overload relay
X 3. stop button

( 4. auxiliary contact

Question ID : 2752281225
Status : Answered
Chosen Option: 4

Q.10 Ua.£.381. o1 R=faf@a & @ &)= a1 g a1y 181 87
Ans  off 1 v & RRN F s T ST 2

X 2. qid A agadiaas

X 3.7 g d). e oy qe werd €

X 4. qadd g g g

Question ID : 2752281270
Status : Answered
Chosen Option: 1

Q.11 &d §T AT &l AR _____ ZRI fAfée fomar sirar 81
Ans X" 1. reich & Gehel SMTUR & AT

X 2. =TT i ward

o 3. =1 & o e & v

X 4. =TT & SnuR & Ten

Question ID : 2752281327
Status : Answered
Chosen Option: 3




Q.12 .80, sifas & ke §.gw.uw. (EMF) ______ gr1 fRdfa gar @1
Ans X1 sim % Fram

X 2. R g Repedt 3 & ¥ g

o 3. 812 & R e iRor & g P

X 4. RT3 % R dadhra kT & R P

Question ID : 2752281335
Status : Answered
Chosen Option: 3

Q.13 f=faf@a & @ FiF ot A gl f B Ay @ efda @2
Ans X' 1 gum

2 o

x 3. faferent UaRYeTa (elastomer)
X 4. defge AW

Question ID : 2752281245
Status : Answered
Chosen Option : 2

Q.14 FAY-34i 3rfler @ arRT A19R & fog Ut iffadf ®ad )
Ans x 1. gfaRier @t Soft ohmr & e =gy

X 2. e & ot dliee 1R AR &A1 =1fRy
W 3. 77 & TR ok el & e g ARy
X 4. AR (leads) @t 3ideh! (terminals) § SireAT 918y

Question ID : 2752281214
Status : Answered
Chosen Option : 4

Q.15 SUHRUT T ¥-Huch+ (earthing) SUFUT Rl _____ & s=m«aT 81
Ans x 1. aRETeHefie gf aieedr (operational surge voltages)
X 2. ¥isT dieedt (breakdown voltage)
( 3. &ruT 9T (leakage current)

X 4. yéu 3 (lighting strokes)

Question ID : 2752281318
Status : Answered
Chosen Option: 3




Q.16 gof a3 Reerdt & ndes srats @ wenfed 817 areft sitea uwr am 82
Ans X" 1. e 4RI & Sd HH &1 AT

X 2. o urr T Sited A

25 3. o U1 & 3itad 7 o Geh- <iterrg

o 4. 7s arr & sivad 7 T o

Question ID : 2752281324
Status : Answered
Chosen Option : 4

Q.17 4 IHeRTel Y TUT R G g1 Y vt 82
Ans ¢ .
X ?:].T:ﬂ' = ;
gr=r aﬁrgﬁrm
@rar froeE
2. - y
gl T el TEA

Qe Ho HEAT

v

p - :
Fsforar ol FE
x Feform Hr ga wem
gar FraE
Question ID : 2752281256
Status : Answered
Chosen Option : 2
Q.18 UehIMTH HfAarg i gt gl
Ans 1 e
X 2.7 /e
W 3.
X 4 &

Question ID : 2752281264
Status : Answered
Chosen Option : 2

Q.19 3l 3-thet Alex Teit & SR Gehet HiSHT gt &, At Hlex U= ot 71 uHTa ugan 82
Ans X" 1 Hier o T @ Terdl @ SR AR I eherel 2/3 W ) A6 SR Tehell @

X 2. HieR 2-BaT Hier 1 AR Tt 3R T T @ &t it

X 3. it 2-tht & T <@t it s 9 Rrcwer <)

(4.nﬁaz-ﬁﬁfﬁaa—cﬁzg?ﬁ%,a{ﬁﬁ?ﬁwaﬂmaﬂaﬁ%uﬁé\w(winding)%aﬂﬁaﬁ
TITIAT gl &

Question ID : 2752281227
Status : Answered
Chosen Option: 4




Q.20 Ao uferte & forg geh AR TUTo o1 udieor ag gRfa e F g s e )
Ans  off 1. PrufRa e & oifires arRoT 4RI T HATE S-H (earth) &Y 3R 7 &)

X 2. TT0 H ORI (live) 3R 92 (neutral) ITeieh Tdd gid &

25 3. uRuy & goft wreren o1 e A 7 8

X 4. mft Rrepreft fRigait ot g dud (earth) 1A & ek & e ma &

Question ID : 2752281330
Status : Answered
Chosen Option : 4

Q.21 3-the Hiex ol e Hieh =y fvam sier @ a9 g9kt SRfYes amT (@) foreht gt 82 e 5@
e ey foma Strar 82

Ans  off 1. qofa: e uRT R 5@ 8 7T
75 2. gofa: dlte aRT A 1@ 37
X 3. gufa: siie gRT & 10 @ 12 771
75 4. gofa: dive aRT R 3@ 4 7

Question ID : 2752281223
Status : Answered
Chosen Option: 4

Q.22 240 V U.&. SR Y srgia aeear fRrae @ 27
Ans o 1 7512V @ it 78 g ARy

X 2.9 10V & ifdres 7gi @ =Ry

/< 3.987.2 V@ sifdeh i g ey

75 4.98 9.6V 3ifdren e g =Ry

Question ID : 2752281329
Status : Answered
Chosen Option: 1

Q.23 fret yemada #, smieR Hargsl A dRa ateear____ ghfh
Ans X1 e

W 2.0

25 3. de

/X 4. werm S,

Question ID : 2752281236
Status : Answered
Chosen Option : 2




Q.24 Qe 3MieATs g, 0. 9. worelt &, g uonet (mains) @ ded A uRadaawrama_____ 21
Ans X" 1.9 milli sec
X 2. 18 milli sec

W 3=

X 4. 10 milli sec

Question ID : 2752281282
Status : Answered
Chosen Option: 3

Q.25 i faege -ufaRte ATt |g (wheatstone bridge) & erRmTdY (galvanometer) & & ari$ oft am=r
varfea A8l gielt @ (S ok & s enepfar & Ryzamar mn @), &t g aRuu =t gl STt 8l

75 4 sggfea

Question ID : 2752281276
Status : Answered
Chosen Option : 2

Q.26 37 @1 fAaw whgan & fk aRuy umr o ZeshATIUTN Eell &1
Ans  of 1 ufiRiy

25 2 s

X 3. dieedn
X 4. Rega e

Question ID : 2752281274
Status : Answered
Chosen Option: 1




Q.27 What is the working principle of a two-winding transformer?
Ans ( 1. Mutual induction

x 2. Lenz's Law
X 3. Self-induction

x 4. Principle of DC motor

Question ID : 2752281352
Status : Answered
Chosen Option: 1

Q.28 In which type of machine is the internal growler suitable to test the winding?

Ans x 1. Armature of food mixer
x 2. Armature in tape recorder
x 3. Armature in shaded pole motor

( 4. AC motor stator winding

Question ID : 2752281260
Status : Answered
Chosen Option: 4

Q.29 i 91 fATH shgar & fF uede s uRuy 7 T3t gicear fArrael @1 ahr g & sRR glar 82
Ans X 1 itm o e

W 2. Rt & g fram

X 3. Rrlth a1 e fram

75 4. eite o P

Question ID : 2752281275
Status : Answered
Chosen Option : 2

Q.30 freht 2R (inductor) & WRuTufdaa Ao AR I gIA _____ 21
Ans 1

—
X 5T anfL

27

X2 X :f_L

V3 X, =2nfL
2n

Question ID : 2752281298
Status : Answered
Chosen Option : 3




Q.31 Qahd-&R ulkdes (winding) #, freforal smasgar s=r g 81
Ans X" 1. @it &l T B AT

W 2 @ S /2

X 3. @i & g & R

X 4w B @ 1/4

Question ID : 2752281249
Status : Not Answered
Chosen Option : --

Q.32 3rrepfar # @y g ufkdes (winding) &1 STTehR T 8?2

H |
R b b
I!I. 2|34] 516 |7]a]9 112 !H-'IESI. i7 (18 BNEI.E]H
L L
wjici=gjaci=gja=ts
4 ] |
X : X
5"’“""1 SWh I";Wz S:W:

Ans X" 1. STt & SRR dTell et aRAE (coil winding)
o 2. 38 aR3e (concentric winding)
75 3. &% uRAed (basket winding)
X 4. ER &) STeht & MR arer dreeht uRaEd (coil winding)

Question ID : 2752281251
Status : Not Answered
Chosen Option : --

Q.33 frfafea & @ i a1 dey ag 78 8?

Ans XT H=E
I

X2 B=pH

. H

X 3=t
i

B

vig=—
=5

Question ID : 2752281291
Status : Answered
Chosen Option: 3




Q.34 fa=faf@a d @ i a1 ardfies wtex o &y =8 82

Ans X" 1. fehrelt &5 ugf (tapped field method) Y s fafYy g1 HieR &Y wife ot R fewar s
Thar g

25 2. R iRy, eyl w Guford fean s werar @
W 3. 75 Tga a1y @ wrenfer &) wera & ok AT < (air noise) HE ZeaT &
75 4. g% Sga 3=a RfVeh gyl R awel &

Question ID : 2752281232
Status : Answered
Chosen Option: 4

Q.35 The resistivity of a conductor depends on its:
Ans x 1. length

x 2. cross-sectional area

J 3. material

x 4. volume

Question ID : 2752281279
Status : Answered
Chosen Option : 2

Q.36 Qe UeTadeh & far e & srqAdich+ (rated) foram strar @1
Ans X" 1 BHP

K 2.kw

X 3.HP

W 4. kvA

Question ID : 2752281239
Status : Answered
Chosen Option : 4

Q.37 As per IEE regulations, green and yellow (combination) colour cores of flexible cables are
recommended for

Ans J 1. protective earth

x 2. phase

X 3. positive of DC 3 wire

X 4. neutral

Question ID : 2752281313
Status : Answered
Chosen Option : 3




Q.38 A unique feature of a wire wound resistance is its
Ans X 1 small size

x 2. low power rating

X 3. low cost

“ 4. high stability

Question ID : 2752281273
Status : Answered
Chosen Option: 4

Q.39 fret ar Y dars o1 ufeRter 4 0 g1 3% FRh ok SIgyRY FIe a1et Ta 3T aR o1 fa™iY war
g, it set o e e @7

Ans o 1120
X 2.80
X 360
X 4.240

Question ID : 2752281277
Status : Answered
Chosen Option: 1

Q.40 Which of the following electrical devices CANNOT be used as a safety device?
Ans X" 1_Circuit breaker

( 2. Earth tester

x 3. Earth leakage circuit breaker

X 4. Fuse

Question ID : 2752281317
Status : Answered
Chosen Option : 2

Q.41 The power input in blocked rotor test performed on a 3-phase induction motor is
approximately equal to

Ans “ 1. 1% R loss in the windings

X 2. eddy current loss in the cores
x 3. hysteresis loss in the cores

X 4.iron losses in the cores

Question ID : 2752281230
Status : Answered
Chosen Option : 1




Q.42 ¥E fq "=re (inching operation) @t ______ +ff gt St 81
Ans X" 1. 3R o (starting)

W 2. 5 5% wder (jogging)

x 3. AT (stopping)

X 4. 31¥eg T (breaking)

Question ID : 2752281226
Status : Answered
Chosen Option : 2

Q.43 Which of the following is NOT an advantage of a separately excited generator?

Ans x 1. Terminal voltage remains stable
( 2. Inconvenience of providing a separate DC source for excitation
X 3. Can be used where a wide range of terminal voltages is required

x 4. Drop in the armature will not affect the field flux

Question ID : 2752281337
Status : Answered
Chosen Option : 2

Q.44 fagqaf=i R g aF gfg i uer S @ gt gl
Ans X 1 uRae dr & forg wgeh gt

X 2. uRaea & g vg wiea
o 3. oRAe & Rorg v e Il
x 4. ygad A4 7 (varnish)

Question ID : 2752281246
Status : Answered
Chosen Option: 3

Q.45 guff & vehR & vearade & fFfa F=faf@a d 9 fra v 4 forar sar 82
Ans “1.@?&?(stator)

x 2. guie (rotar)
x 3. 3MTASI (exciter)
x 4. &7 3ideh (field terminals)

Question ID : 2752281237
Status : Answered
Chosen Option : 2




would you choose?

Ans  off 1.DC series motor
X 2. Differential compound DC motor
x 3. Cumulative compound DC motor

X 4. DC shunt motor

Q.46 You have to change the defective motor of an electric locomotive. Which type of motor

Question ID : 2752281342
Status : Answered
Chosen Option : 1

Q.47 Qe 3iaddan (inverter) a1 Rfaf@a & @ oan o gtar &2
Ans X" 1. . dieear o I <, dieedr § gaerd @

W 2 3. s g, dieear § geear 2
25 3. 7. dieear A Iea ¢, dieear § seerar @
X 4.0, dreear €., dreear § seerar @

Question ID : 2752281285
Status : Answered
Chosen Option : 2

Q.48 What is the formula to calculate the pitch factor of winding?

Ans o 1. Pitch factor = Winding pitch/ pole pitch

/< 2. Pitch factor = Winding pitch X pole pitch
/< 3. Pitch factor = Pole pitch / winding pitch
/< 4. Pitch factor = Winding pitch - pole pitch

Question ID : 2752281250
Status : Answered
Chosen Option: 1

Ans

Q.49 ue .. &. (BOT) gfe & SRTeR gt 81

o 1. 1000 atewR
X 2,746 drese

X 3.1500 afe-ee
25 4.1200 afe-a2

Question ID : 2752281212
Status : Answered
Chosen Option: 1




Q.50 the ateedr & T aread §?

Ans X" 1. g Qalt dieed & St AR YT & 1 tht A el 81
X 2. 78 Yo Tt UeTadh & @ aRi (lines) a1 WaTgent & dter AT ST arelt e gt &1
«3.HEWA,BUTCGﬁ?mﬂIdChNﬁ@HdIo’ddl%l
/X 4.78 A SR B, B 3R C a1 C 3R A Gl  fRd dteed &1

Question ID : 2752281300
Status : Answered
Chosen Option: 3

Q.51 dieedr & def &, IRFO1e (inductive) yRTA aRT_________ gt 21
Ans X" 1 O & aTeR

o 2. oz

X 3. s

b Rk

Question ID : 2752281308
Status : Answered
Chosen Option : 2

Q.52 geaehifores Aledl |, goff fe2=e (stator) s1fars (flux) s1e1 3R gofes (rotar) eifRarg (flux) s1af
gpat & oftr & loT et SeTgOl FHoT gt SITaT &1 FERR i & ATy g+ arell gegeTfeie dteR &
312 (excitation) SR R aeTgof RloT |

Ans o 1 FmEm
X 2.3 g smem
X 3. f@rEm
X a.=Em

Question ID : 2752281241
Status : Not Answered
Chosen Option : --

Q.53 How are the inter-pole windings connected in a DC generator?

Ans x 1. Parallel with the armature and of the same polarity ahead of the approaching pole
X 2. In series with the armature and of opposite polarity ahead of the approaching pole
x 3. Parallel with the armature and of opposite polarity ahead of the approaching pole

“ 4. In series with the armature and of the same polarity ahead of the approaching pole

Question ID : 2752281339
Status : Answered
Chosen Option : 2




Q.54 UATeCT ¢RT T 3R.TH.TH. (R.M.S.) A9 15 mA &1 ST 3T |71 T ghm?
Ans X 1.11.1mA

W 2135mA
25 3.15mA
X 4.16.5mA

Question ID : 2752281296
Status : Answered
Chosen Option : 1

Q.55 The type of speed control preferred for applications where unusually wide and very
sensitive speed control is required will be the

Ans x 1. applied voltage control

X 2. shunt field control
« 3. Ward-Leonard control

x 4. armature control

Question ID : 2752281347
Status : Answered
Chosen Option : 3

Q.56 uRunfaw & gAdsioa aa & am, gl sre f FH F FrRor e uftka gr1 Afdfa o smaEr
(stamping) f&=ma (straining) & faaT Big Ry w4 &, @t aRonfAs wR @ g g2nr?

Ans " 1. ow GeraT
75 2. m dieedr sguTd
X 3. wame
W 4. # diee gdteR =1 (rating)

Question ID : 2752281243
Status : Answered
Chosen Option: 1

Q.57 f=fafEa d 9 fraw gaffdes vae gedia 87 garg?
Ans  off 1. g s & AR o & et ameht AR gl

X 2. % Uit aTeht AR et

X 3. qeh uier arett dR geett

X 4. aR S e i

Question ID : 2752281350
Status : Answered
Chosen Option: 1




Q.58 Alternating currents and voltages are represented by a straight line with an arrow head to
represent the magnitude and direction. What is this representation called?

Ans & 1. pulsating quantity
X 2. Scalar quantity

f 3. Vector quantity

X 4. Alternating quantity

Question ID : 2752281294
Status : Answered
Chosen Option: 3

Q.59 e ufkded (winding) &, afd ufa et Greferidh dwar yat & g & d@ean & sReR g, at 59
— TSt gl

Ans X 1. arigferd uRaed (winding)
X 2wl dreeht witem
o 3. o1 el wrier
x 4. gqfera uRae= (winding)

Question ID : 2752281248
Status : Answered
Chosen Option : 4

Q.60 freft uRRuy d tRevea va et & forg FrafaifEa d @ foreenT vl forar sirar 82
Ans X1 el

X 2. ufRiy

W 3.9

p

Question ID : 2752281295
Status : Answered
Chosen Option: 3

Q.61 1.3 sifa= & uRa £.un.Tw. (E) 719 & &1 g gl
A
ns (lE:quN Xffﬂ?ﬂ?

A

&0

¥ 2. B="% dreem

120

. _@IN A
x&E _60 XP arecd

¥ 1. E="% dieew

&0

Question ID : 2752281336
Status : Answered
Chosen Option : 1




Q.62 3-thal & AR (stator) @i F U d fazamu=r______gar @1

Ans

1 360 37T

37 FEET R T

X2 et F @ E gl
360 379T

X

; 120 379r

39 FEETF e

X 4 3t A @ETH E
120 3791

v

Question ID : 2752281254
Status : Answered
Chosen Option: 1

Q.63 Which parts of multimeters are most noticeable?

Ans x 1. Socket terminals, bearing, switches
x 2. Bearing, socket terminals, measuring element, pointer
« 3. Socket terminals, range selector switch, scales and pointer

x 4. Range selector switch, type of connection, bearing

Question ID : 2752281216
Status : Answered
Chosen Option : 3

Q.64 Ue REar srite & udteror Y Al & w8 srpfar & R md 21 afy , df St st
gl

R A K A K
— .

e s =
n iG] =153

Ans X" 1. 2T UTeich SRISR &
75 2. & rerich Iea &
o 3. oo ue R d e ofk qErdt fRean & 3o
75 4. & urerich e &

Question ID : 2752281321
Status : Not Answered
Chosen Option : --




Q.65 U@ STl #, 3rats & aifausa gy fomn 3o @ yanfga g areft arr st ____ swgr Stman 31
Ans X 1. siftiehdn sferd e et

X 2. Sifcha Iesm a1

W 3. sfean sifta i amr

X 4. sifeham o arT

Question ID : 2752281322
Status : Answered
Chosen Option: 3

Q.66 Teh 31 Sif= & forg, caTawnfAe gerat (n,) FTAM ______ g Sehat 81
Ans X' 1.20%
X 2. ST &8 @ e da g

75 3.10%

f 4 sifte @ o 95% aw

Question ID : 2752281344
Status : Answered
Chosen Option : 4

Q.67 uRde= (winding) & Feeft ursf, S fak & 7€ srepfar A g21fg 7q &, erewm= & ofik 399 edlg
faferzor & forg e1fdYer Tu= fAear 21 39 ueR & ulRde= (winding) Y ______ srgTSTaT 81

Ans X" 1. siger g1 uRaEA (chain winding)
25 2. et Wger uRaEd (skein winding)
o 3. f=e1 oRAET (skew winding)
25 4. €R1 g2 greeht uRAEH (diamond coil winding)

Question ID : 2752281253
Status : Answered
Chosen Option : 3




Q.68 ufa %ot Grsforal Y dwan FRER AN &
e v .;I sfera Eﬁl’gﬁ'!i@ m
AT T EEIT
QT ST EE
oar & gEm
H—Eﬁiﬂ'ﬁﬁm

ﬁm‘raﬁrﬂm X gﬂ‘rﬂ:gm’r $raem
Fsforr / it 1 7Em

o3l T FEAT

X2

X3

x4

Question ID : 2752281255
Status : Answered
Chosen Option: 4

Q.69 N WehR & 3ig-aTeteh ot fAfdfa &R & g siggar & wu & fora aw w1 wi fokar STrar 82

Ans X 1 gegfifiem
X 2.9RA
W 3. orifE
X 4. dem

Question ID : 2752281320
Status : Answered
Chosen Option : 3

Q.70 =T on A g gaT g i
Ans X 1 g e -sTHeT GeRIRe o 8
75 2. 98 O o Gt g
25 3. 35 Rrge -srwien & S RIfRYE e g1 8
W 4. s e sifaf SRl g 8

Question ID : 2752281283
Status : Answered
Chosen Option: 4

Q.71 3IE-ATeIeh & w4 A fohd d 1 vl fora Siran 87
Ans o 1 Rt

X 2 =&

X 3. uegfafam

25 4. qin

Question ID : 2752281319
Status : Answered
Chosen Option: 1




Q.72 .. s fi faega gerar _____ grr it st @1

Ans v
X nE:E_g
X3 ne=%

VI
W4 HE=E

Question ID : 2752281343
Status : Not Answered
Chosen Option : --

Q.73 Which of the following is a cause to move the rotor in three-phase induction motors?

Ans " 1. Rotating magnetic field only
“ 2. The interaction between the stator and rotor magnetic field
x 3. The emf induced in the rotor bars

X 4. The rotor magnetic field only

Question ID : 2752281218
Status : Answered
Chosen Option : 2

Q.74 freht oft gorer-thet aRonfas &, wrufae sik fEdfiom g ateear @it &1
Ans X 1. fhr Rridg cite 3 TR 1ok TR R a3

X 2. Bl @ STER 90°

W 3. o= d

X 4. Bl @ aTeR 180°

Question ID : 2752281351
Status : Answered
Chosen Option : 1

Q.75 Which of the following equipment’s principle is same as that of a single-phase induction
type energy meter?

Ans « 1. Single-phase induction motor
X 2. Moving iron meter
x 3. DC motor

X 4. Moving coil meter

Question ID : 2752281210
Status : Answered
Chosen Option : 1




Q76 7fx oRonfET s (K=V,/V,) 1 & 3 §, o aRonfas o=
Ans ( 1. I=ardt gRonfaa (step up transformer)

x 2. 9RT URONTAA (current transformer)

x 3. 3=t ufkonfas (step down transformer)

x 4. T ufonfa (auto transformer)

&

Question ID : 2752281353
Status : Answered
Chosen Option: 1

Q.77 w19 98 Y 9gd FH R F AmAA frar srar g A A A oA FA M A @w______war

STt 81
Ans X1 Rear fafd
X 2. R dieear fafy
W 3.5 TR e (trickle) Rfy
X 4 RRyr Al

Question ID : 2752281280
Status : Answered
Chosen Option : 3

Q.78 i uRkunfa=i & forg, sia:w= A=
Ans X 1. Rferiee dw

X 2. 099w

W 3 T®Iw

X 4. AR IR

T g T gl

Question ID : 2752281242
Status : Answered
Chosen Option: 1

Q.79 3maAM & R HET sret At & fAerrT B1el (plugs) @ T T T AT HIROT §?
Ans X" 1. 3aRH oR Y St A & eIy

75 2. R -emwe & RRE 1o & 9gm & g

X 3. TetheuT & (sulphation defect) @ & @A & forg

W 4. 0 @ w0 @ Paer & g

Question ID : 2752281281
Status : Answered
Chosen Option: 3




Q.80 In the Ward-Leonard system of speed control, the controlled DC motor will be
Ans X" 1. compound motor

x 2. series motor
( 3. separately excited motor

x 4. shunt motor

Question ID : 2752281348
Status : Answered
Chosen Option: 4

Q.81 F=fafEa & @ a1 gk RH Yaoh &1 I8T80T1 8?7
Ans X 1 dree g

X 2. wegwm@

W 3. Rt e

75 4. e

Question ID : 2752281287
Status : Answered
Chosen Option : 4

Q.82 U thfShT PRy st fAslw wud _____ & fog sifresfeda frar mam &1
Ans X" 1 g-dieedr @ gRam

o 2. srighera dteear & wren

X 3. ifd-ateear & gren

75 4. F-aiteeal @ gran

Question ID : 2752281231
Status : Answered
Chosen Option: 3

Q.83 f=fafEa & @ a1 o gadhg fAsr-urg 82
Ans x 1. oitg 3@

X 2. T s

W 3 s

X 4 Tl

Question ID : 2752281286
Status : Answered
Chosen Option: 3




Q.84 St Al FArafawt_______ ) uRafda s afa farar s werar 1
Ans  off 1. Ry aeft R

X 2. ugeh dteear

75 3. 36 vy ya aifdarg

X 4. R uRuy & uRRy

Question ID : 2752281345
Status : Answered
Chosen Option : 3

Q.85 F=faf@a sepfar garfafia ot uRdes (simplex lap winding) @t g2ifdt 81 smpfa A X h wu &
2217 TTQ T <kl <l et €2

?__1?:?-{‘1 iﬂ?:?vl'-!

Ans o1 oftomer sTaRTe (resultant pitch) (YR)
X 2 IS5 oWl (back pitch) (Yp)
X 3. FAEEATF HaTe (commutator pitch) (Yc)
X 4. FFAE I (front pitch) (V)

Question ID : 2752281257
Status : Answered
Chosen Option : 4

Q.86 1.3t ursf o (shunt) AR P afa maRepea wAwmIga____ I
Ans X 1. N=V+ILR, /K,

V—I_R
Vo - =ia
ky

X3 N=V—LR
X4 N=V+LR,

Question ID : 2752281341
Status : Not Answered
Chosen Option : --




Q.87 <d<Ten 'FITSH aleedT &l 2T 31 &7

Ans  off 1. 95 3 Ad B, B Ud C quT C ud A # Rl dteear 21
X 2. Ry g frereat & @ g &
XB.%&WW(earth)sﬁ?ﬁ%ﬁWWﬂﬁﬁﬁm%I
x4.Hgﬁ»—ng,BmCGﬁ?amﬂMchNﬂ@acﬁm’_dlél

Question ID : 2752281304
Status : Answered
Chosen Option: 3

Q.88 A= 21f<% T[UTich T H=T HIROT gl
Ans X' 1 3uegRol i YR dived & JaR-TG
o 2. oRwer & wfverdt afs
X 3. uRuy T R &t dater
X 4. Frifa oA e SUeRoll ohl UG AT

Question ID : 2752281299
Status : Answered
Chosen Option : 2

Q.89 f=feif@a d & forwent wail d.&fi.qw. (PCM) Tfithia dhaew & forg Aumr & wu & forar sirar 82
Ans  of | uiferia

75 2. sy

25 3. @

p R

Question ID : 2752281331
Status : Answered
Chosen Option : 1

Q.90 o UehR & WU Y Z&IAT IAqH Afh THRGh gict 87
Ans X' 1 aig-oivieael w

7 2. 31g-yeme wdem

75 3. e v

W 4 e vé

Question ID : 2752281265
Status : Answered
Chosen Option : 4




Q.91 Uk nIfAHT witg SuehvoT o fagigur aergef _____ 3 uUegere: Sguret gidn gl
Ans  of 1 e ar

X 2w

X 3. diee
X 4. ar & ety

Question ID : 2752281206
Status : Answered
Chosen Option : 1

Q.92 What type of wire is suitable for wiring a fire alarm system?

Ans ( 1. Mineral Insulated Copper Cable (MICC)
x 2. Flexible cable
X 3. Rubber insulated cable
75 4.PVC cable

Question ID : 2752281278
Status : Answered
Chosen Option: 1

Q.93 HFuh IMARW ____ g &l
Ans X 1. men wew R Frifia
X 2. 7ifyer = @ Frifa @
3. R grar Frifia e
75 4. memared (centre tap) f@w

Question ID : 2752281224
Status : Answered
Chosen Option : 2

Q.94 Uek ekl dfeHier T WA 3-thet Totrel! A 21feh <l Aara= & forg asft foran S Gepar @ S dits
@l

Ans X" 1 grgigferd
X 2. @R
X 3. Tdferd 8 & @y ary srwgferd off
4w

Question ID : 2752281303
Status : Answered
Chosen Option : 4




Q.95 The application of stepper motor is in
Ans ( 1. fax machines

x 2. coil winders
X 3. lifts and hoists

x 4. compressors

Question ID : 2752281234
Status : Answered
Chosen Option : 4

Q.96 i 4 pF & 2t wierTR softer & 72 §¢ &1 S et TR
Ans X1 4pF

W 2.2pF

X 3.8pF

75 416 pF

&

Question ID : 2752281309
Status : Answered
Chosen Option : 2

Q.97 Which cable is used as a machine cable?
Ans x 1. Tropodure cable

x 2. Armored cable
“ 3. Lead shielded cable

/X 4.PVC cable

Question ID : 2752281328
Status : Answered
Chosen Option: 4

Q.98 Ueh gof a7 fywerrY, Geh SaTashia ©. 3. aieedr ot ues wieizfier €.+t aleear & uRafda swar

21 g egfRr & wesf # seeht Pt emgfy am ghft?
Ans X 1. 3Mgfd Mgy 3 SRR
X 2. Smgfd sy Y ameft
o 3. sl sl i A
x4‘31TCI;%GTI’c[ﬁEﬁEﬁ=[Tﬁ

Question ID : 2752281325
Status : Answered
Chosen Option : 1




Q.99 IS 1271 - 1985 & AR HYF (mica), T, dq (fibre) 31X 31Eg (asbestos) & forg ardig arf

3R arqH= gl
Ans & 1 afy, 90°C
/5 2.@fE 120°C
X 3@ A 105°C
W 4. @fB, 130°C

Question ID : 2752281263
Status : Answered
Chosen Option: 4

Q.100 =1 gy arelt 1.4, afiq 1 gt T T T &1

Ans X 1 g gy
75 2. b
o 3.zt e
X 4. gegfafem

Question ID : 2752281333
Status : Answered
Chosen Option: 3

Q.101 3-tht URUT HieR & fA=faf@a sifere (design) @t & & i a1 ddfies AR & U dgar

g ?

Ans o 1 @fc
X 2.afA
X 3.a@fD
X a.afB

Question ID : 2752281220
Status : Not Answered
Chosen Option : --

Q102 Tfrg et @ #marSan gl
Ans &1 VA

W 2 kw

X3V

X 4.VAR

Question ID : 2752281305
Status : Answered
Chosen Option : 2




Q.103 #1.&. (CTs) =t uta uehRl & arffera forar war 81 faera sife a1 otwa o srfie & fFa v &
4. &. (CT) Rigia =1 vl fmar sirar 82

Ans ( 1. Ge1g UehR a1 &Y. (CT)
25 2 ufAe R E LA, (CT)
X 3. g yER T AL, (CT)
75 4 dmdgagen @A, (CT)

Question ID : 2752281354
Status : Answered
Chosen Option : 2

Q.104 aepfa # fohe UehR & uRae= (winding) ot g2rfaT mam &2

Ans X" 1 g g uRaed (diamond winding)
/X 2. T4 uRae (concentric winding)
x 3. foreT gRae= (skew winding)
o 4. 7 wgar uRaEH (skein winding)

Question ID : 2752281252
Status : Answered
Chosen Option: 4

Q.105 TH.T. (MA) UhR & URe ared € (mercury vapour lamp) &t g2ifdft € smepfar & wefia wmr ar
T h glaT 82

S FoTs

Ans X" 1. o H SeteeAl T S ahAl
X 2. el o g e/ Riegdmt (electrodes) & e wafed €1 21
25 3. freT &Y e SR URe Bt arediepel AT
o 4. e R (electrode) 3 @mer Rl amst AT

Question ID : 2752281266
Status : Answered
Chosen Option : 3




Q.106 e Frifia e gl & Rra war & €rvs o1 water R v 22
Ans X" 1 dge. (PN) SiaM grits

W 2 d=erie

75 3. e e

X 4. s ST STe

Question ID : 2752281323
Status : Answered
Chosen Option : 2

Q.107 Te.$.$Y. (LED) ahT IUTNT aRaT 82

Ans X" 1. iy @ E AT
25 2. dteear @ RfFafdd s
X 3. g & Sl & oReifdd e
o 4. g3 ve 3

Question ID : 2752281268
Status : Answered
Chosen Option: 4

Q.108 afg Twza iarTe (front pitch) (YF) Y8 3iaRTet (back pitch) (Yg) & &4 &, af ufkde= (winding)
hUPRFB____ wgTeTl

Ans X 1. gafesfa T (simplex lap) (a) aRfid uRaEH (wave winding)
o 2. o 81 (progressive lap) (a1) %fitd aRaET (wave winding)
x 3. ugETHt O (retrogressive lap) (am) a3fd uRas (wave winding)
X 4. fpfora 81 (duplex lap) (1) @k aRae (wave winding)

Question ID : 2752281258
Status : Not Answered
Chosen Option : --

Q.109 fFmfaf@a & @ = a1 Suawor .t ok .3t ST A ga afefier & wu § gareargds
wenfora giar 82

Ans  off 1. afRrmTdh SuERoT
x 2. 41.gA. g€l (PMMC) IueRsor
X 3. qa.3mE. (MI) Suaor

X 4. 9@ AR U=l

Question ID : 2752281207
Status : Answered
Chosen Option: 1




Q.110 9T & HAT a1 R Y-Huh aR (earth) & ufaRter ot srara Amar s 91fag| 39k forg
fore @i=t a1 v ok Strer @2

Ans  off 1. T8 (carth tester)
5 2.8m
X 3. fagga -uferter wmdt §g (wheatstone bridge)
75 4 st

Question ID : 2752281315
Status : Answered
Chosen Option : 2

Q.111 AT & Seeh hl T gl ST &2
Ans o 1 wwmEfy

25 2. smam

X 3.9

75 4 g R

Question ID : 2752281297
Status : Answered
Chosen Option: 1

Q.112 fist (squirrel cage) 9RoT Hiex &Y ger=m & Tdff aer4 (slip ring) 9RoT Hiex & fAwfor # g siar
FE?

Ans X 1. gufcs (rotar) 3 R sidenfia @1 &
x 2. dd 1 Sl @t gufes @i (rotar slots) & STaT ST &
/X 3. 9ufa (rotar) & fR® @@ (slots) €1 &
o 4. 90 (rotar) 3-8t aRAT ZRT e g & ofk @R H et gon St 2

Question ID : 2752281222
Status : Answered
Chosen Option: 1

Q.113 geh Senfsfia . dft. aRuy & 1

Ans  off 1. uRy dieear & o B &
25 2. diteear a1 & w1 et & g1 @
25 3. dteear ari @ ST g @
X 4. ur dieedn & 91 Gt 7 g1t @

Question ID : 2752281310
Status : Answered
Chosen Option: 1




Q.114 uRae= (winding) & A7 (varnish) T 3224 T 82
Ans X 1. srcfireh ST @ ST
o 2. oR3E (winding) & e ToTers Bt wETT
25 3. gife g & s
X 4, gRae (winding) $eelt Sl The TR @1

Question ID : 2752281261
Status : Answered
Chosen Option : 2

Q.115 | RE Ue & & fg IueRvor 9f-Hudhe (earthing) stra2aeh g1
Ans X' 1 aifte eite

o 2. R smardt & e

25 3. SargeR o g ATgEE

X 4. dicedr & 3aR-=grE

Question ID : 2752281314
Status : Answered
Chosen Option : 2

Q.116 @i Amug €7 (sign lamp) # a1 FAfafEa & @ forg gea R ARk = 87
Ans X' 1 fre & efard

W 2 e & e

25 3 AR

X 4. Afer & SRR

Question ID : 2752281271
Status : Answered
Chosen Option : 1

Q.117 FA=faf@a d & o a1 e g vearacds & @R 99 § g gof g1 areft et 9 &
T 82

Ans X 1. f&% (stator) TRaTHT FH o B fRY
o 2. &1 oz T srava g ARy
X 3. sraia (rating) & s g @Ry
25 4. ofes (rotar) fdramen THT sraza g =Ry

Question ID : 2752281240
Status : Answered
Chosen Option : 2




Q.118 uiefifaTset RIS Gk ___ ageidh (polymer) g1
Ans X 1. araeTfaeh™ (thermodynamic)

X 2. aruded (thermoelectric)
x 3. @ 9Rka (thermo induced)

“ 4. arggued (thermoplastic)

Question ID : 2752281326
Status : Answered
Chosen Option: 4

Q.119 f=faf@a § & fnd 3-thet IRt dter § arafaes nfa gt smar 82
Ans X" 1. gufch (rotar)  Se ST (flux) 1R

X 3. @ (stator) & if

“4.ELUTEF(rotar)Eﬁ1T%

Question ID : 2752281219
Status : Answered
Chosen Option : 4

Q.120 3iTherrs g, H.g9. (UPS) &l gor=im # sif-errs= g, W.q¥. (UPS) AT o &1 872
Ans X' 1 sifenga g d.ga. (UPS) fRR Prfe sy a1 @
X 2. sifers g g, (UPS) R Rigd Frfa ht emgfdf awar @
W 3. sitTems 7. . (UPS) oRad oiR sraerier (transition) Teamsi @ ek gt @
X 4. it g, d.gd. (UPS) Ueher-Gre a1 3-0ret STYfd OR &hid aheell &

Question ID : 2752281284
Status : Answered
Chosen Option : 2

Q.121 uRae= (winding) & forg wah Y s arelt A= amfiat ) aroarE i gas ALty diar ar
AT et Y IThT e1HaT & SIER aficpe forar sirat @1 ot E e o1 sifdrehas grida arosam=
FE?

Ans " 1.90°C
W 2.120°C
X 3.130°C
X 4.105°C

Question ID : 2752281244
Status : Answered
Chosen Option : 2




Q.122 Spring control is used for providing controlling torque in which of the following
instruments?

Ans « 1. Dynamometer type meter
X 2. Earth resistance tester

x 3. Megger
X 4. Electrodynamic type PF meter

Question ID : 2752281209
Status : Answered
Chosen Option : 1

Q.123 H.Uw.Te. ______ & hRUT a19éi (incandescent) U i 511g & @ &1
Ans  off 1 ST ga 6 I AT ORI Y Sfta et

X 2. 39 o St @l
25 3. 37k i Sfe et
X 4. Foft s Y IR ema

Question ID : 2752281269
Status : Answered
Chosen Option: 1

Q.124 afy smgfe ateear 'V' 10 V & iR 3Rfore (inductive) dseft (V) & ateear 8 V &, af ateesdlex (VR)
1 AT S areft aieean Y aEn fra ghft?

Ans  of 16V
X 218V
X 3.2v
X 410V

Question ID : 2752281307
Status : Answered
Chosen Option : 2

Q.125 The speed of a universal motor is inversely proportional tothe ______

Ans X" 1 resistance

x 2. current
( 3. load
x 4. voltage

Question ID : 2752281233
Status : Answered
Chosen Option: 3




Q.126 gerchid RIS (core) ol et 31faTs (flux) o glaT 3l
Ans x 1= ¢

L
: A
X2 B= i

@

=L

v IE?-—‘q

WWW.ALLEXAMREVIEW.COMType your text

Question ID : 2752281293
Status : Answered
Chosen Option : 4

Q.127 gk & 3ifRarg (flux) aviea Y g&.911E. (SI) ForE a1 82
Ans X 1 e /aeh?

X 2. 3R/ HR

X 3.

o 4 e

Question ID : 2752281292
Status : Answered
Chosen Option : 2

Q.128 . #.gH. (PCM) Faes | fFd aTeteh b1 WAl farar Siran 82
Ans  of 1 qm & s erg

25 2. srfifera A
X 3. s@Eddr
X 4. vegfafimm & ar

Question ID : 2752281332
Status : Answered
Chosen Option : 2

Q.129 Qe UedTadeh ot Ao g gR1 weffa frar siar g1
Ane s Ve, 400

NL

X 2 J(V Cos8 + IR)* + (V Sind + IX,)?
o 5 EZEE 100

VFL

X 4 TR 100

Ve

Question ID : 2752281238
Status : Answered
Chosen Option : 3




Q.130 Ueh 3reeht Harg! arft spie ot &2
Ans  of 1 =i

X 2. SR g

X 3. e

p R

Question ID : 2752281272
Status : Answered
Chosen Option : 1

Q.131 U s .80, uref uy (shunt) #iex i afq =t
Hrdr &l

Ans  off 1 s oRuy & Ry F 3fy
25 2. ameR uRuy & R & st
X 3. omufd deear A afy
75 4. & uRuy & ufRly & 9fg

______zra3gd fRufRa nfa 9 wa fRrar s

Question ID : 2752281346
Status : Not Answered
Chosen Option : --

Q.132 foreht armft & ufa sorrs e A sifRamg (flux) =

Ans X 1. <qehig arges aet (MMF)
X 2. e 7o varg
X 3. ufaséy
W 4. s (flux) e

& U & ST ST 81

Question ID : 2752281289
Status : Answered
Chosen Option: 4

Q.133 The primary and secondary windings of a transformer always have

Ans J 1. a common magnetic circuit
x 2. different number of turns
X 3. same size of copper wire

x 4. separate magnetic circuit

Question ID : 2752281349
Status : Answered
Chosen Option: 1




Q.134 f=fafaea d | o .. Aex Fi fagge Soft ag w=ar @2
Ans X 1. @il & s

X 2. drefordt i g

75 3.t g

o 4 s S e

Question ID : 2752281247
Status : Answered
Chosen Option: 3

Q.135 af fareht Fusett o1 ufaiy 15 Q & iR Fuseht H ufdemer 25 0 &, a9t Rorafeara _____ ghmi
Ans X' 1400

W 2200
X 3100
X 4.4000

Question ID : 2752281306
Status : Answered
Chosen Option: 3

Q.136 In which part of the DC machine is EMF induced?
Ans  off 1. Armature winding

x 2. Commutator

/5 3. Field winding

75 4. Yoke

Question ID : 2752281340
Status : Answered
Chosen Option: 1

Q.137 ga<hia argeh ot (MMF) Y gerTs = &2
Ans X 1. FeR/ Hie?

X 2. wrdeR / &

W 3 TR o=

p R

Question ID : 2752281290
Status : Answered
Chosen Option: 3




Q.138 3-tioT Hgfad dils #, AesyarR AR gt @
Ans X1 2Ly

X2L

VR

X4. 3IL

Question ID : 2752281302
Status : Answered
Chosen Option : 3

Q.139 IRUT TR & oA IR ORI Heeit 3R qa dsefl shaer: A TS gd &1
Ans X" 1. 3gfd @ guriaR o # ofR wlte § GHTR HE d

o 2. e @ sioft o F ok SmafY & TR A

25 3. ufd @ guriaR e F ok e & Aot o F

X 4. e @ Aot o & ik Sgfd & Soft ohm

Question ID : 2752281213
Status : Not Answered
Chosen Option : --

Q.140 y-u=if& (earth tester) &1 TaT ¥-fAegary ufaRty &t A= & forg forar smar & e+ sau=w
. %, ) a1 IsREe gRT €. A uRkafda farar s @1 uferte Ao & fog gt smgfd
TN &3 <hT <RIRUT R &7

Ans  off 1. R s §.0 U, (EMF) 3 FRoT 81 arelt 3 @t e e
25 2. g, & a1 a (sine wave) WET gl @
X 3. v vfkty S, ufkiy @ sifdres gar &
X 4. g, &1 R w@E vt H wefer g @

Question ID : 2752281316
Status : Answered
Chosen Option: 4

Q.141 Inter-poles are meant for:

Ans ( 1. reducing sparking at the commutator
x 2. increasing the speed of the motor
x 3. increasing the counter EMF

X 4. reducing the strength of the main field

Question ID : 2752281338
Status : Answered
Chosen Option : 1




225°C ek Rl ATIHT Jg & TehdT 2?
Ans X1 o
25 2 At
X 3. Y
W 4. caf

Q.142 e AT ol ITch ZRT T 19 AT99 & SIgHR afiepa foRa StraT g1 Irfiral ot sl a1

Question ID : 2752281262
Status : Answered
Chosen Option: 4

Q.143 Why is an armature core laminated?

Ans ( 1. To reduce the eddy current loss
x 2. To reduce the hysteresis loss
x 3. To reduce the weight

x 4. To reduce the cost price

Question ID : 2752281334
Status : Answered
Chosen Option: 1

Q.144 Uk &R Gaiford, 3-thel URUY & et &RT 100 A &1 9189 URT _____ @hftl
Ans X' 1.578A

25 2.300A

W 31004

X 4.173A

Question ID : 2752281228
Status : Answered
Chosen Option : 3

Q.145 4t aer4 (slip ring) 9RoT #tex # fhT UhR & goieh (rotar) w1 Ul v STrar 82
Ans x 1. Qeher fisrt gofes (single cage rotar)
x 2. g4 &8 fUsiY (deep bar cage) Al
“ 3. reford gufes (wound rotar)
X 4. RS (double cage) Hiex

Question ID : 2752281221
Status : Answered
Chosen Option : 4




Q.146 Which diagram is mainly used to locate the brush position in a DC armature winding?

Ans ( 1. Sequence diagram
x 2. End connection diagram
X 3. Ring diagram

x 4. Development diagram

Question ID : 2752281259
Status : Answered
Chosen Option: 1

Q.147 fE% (stator) Gahg e Fgofa R fRem___ s AR ot 81
Ans X" 1 @R uRaE (stator winding) & R

x 2. guies (rotar) <l R

o 3. Tafdf & St argeE

27X 4. sy & deear

Question ID : 2752281217
Status : Answered
Chosen Option: 3

Q.148 3TUeht ek E1.311.Q. (DOL) SRk o A1ea® A ST 3 thet, 5 HP, 415 V, 50 Hz fist (squirrel
cage) YRUT HleR ZRT &itfa ¥RT Fi FARE & g e srficR sien g1 sk aRug A sited &
forg Sugeh srfie @1 e 8l

Ans X' 1.0-15A (XRe dar)
X 2.0-10 A (R rarm)
W 3.0-30 A (Rrfa )
X 4.0-5 A (RraRa )

Question ID : 2752281208
Status : Not Answered
Chosen Option : --

Q.149 3-Thet SerraTdt 7 £ 1.25% &Y Jfe §1 39 Hiex & Arean § g 7+ & g ura Sif @ue 1600
gfAe g1 RuiiRa & o fer F arafas @ua 9 frai gfae afdw/ma & g

Ans o 1 207fe
25 2,405k
X 3. 109fe
X 41258

Question ID : 2752281211
Status : Answered
Chosen Option: 1




Q.150 ufgert faegamr ¥-Hueh (earthing) & forg F=faf@a & & fova T @ wakT frar e 82
Ans X1 w

X 2. Rrgd Iueor

X 3. R we

W 4. o

Question ID : 2752281312
Status : Answered
Chosen Option : 2

Section : General Hindi and General Knowledge and Reasoning

Q.1 fH 2rex T 4 |1 g TTed 87
Ans X" 1. e - Rl

X 2.3 - em

X 3.3R - FW

o 4 e - e

Question ID : 2752281364
Status : Answered
Chosen Option: 4

Q.2 f=fafae d & o a1 vafaarh e T9g 5 &
Ans X" 1 g, @, AT

' 2 s =m o

25 3. gufy, derd, Riget

X 4w, et

Question ID : 2752281363
Status : Answered
Chosen Option : 2

Q.3 fA=faf@a d @ o= ar fadaft o 22
Ans o 1 sef

X 2.dfe

p

X 4. weren

Question ID : 2752281358
Status : Answered
Chosen Option: 1




Q.4 R a1 g1 - HeTaR & Y &
Ans X 1. aref o ST

W 2 dwfg

X 3.gwEn

X 4. e s g

Question ID : 2752281369
Status : Answered
Chosen Option : 2

Q.5 fFr=faf@a g aga e g | @ @i a1 faeea sigs 87
Ans X 1 sy - e

X 2.9 - g

W 3 va-wm@

75 4. et - atet

Question ID : 2752281357
Status : Answered
Chosen Option: 3

Q.6 gl wR uehl a3 &1 YGifeha 2ree o1 ST W B
Ans  off 1 Sifaree @
75 2. efRharee

75 3. viraras g

X 4. Togars

Question ID : 2752281359
Status : Answered
Chosen Option : 4

Q.7 ‘@M # s R war @1’ gt § ugeh T o1 9 @
Ans (1.&%@%%

X 2. 398 qovaTas gdH
75 3. dsjeraraes gdm

75 4. 3= qvaTas g

Question ID : 2752281360
Status : Answered
Chosen Option: 1




Q.8 oI T AT ‘3T IUFH A 7EH a1 8?2
Ans X" 1. arsfiae
X 2. smRo

X 3. smmE

o 4 sroEa

Question ID : 2752281355
Status : Answered
Chosen Option: 4

Q.9 aray # STgl UieT Fh-1 g1, a8t fona fRig a1 et fovar strar &2

Ans  off 1 e firm g
X 2. qof faem Rig
X 3. g Rg
/< 4 e g

Question ID : 2752281371
Status : Answered
Chosen Option : 1

Q.10 ‘gid - Ui’ 2reg oA & Tt oref g ot 9o FifSig:

Ans X' 1 diar-dix
W 2. s - i
75 3. e - gt
X 4. gRER g

Question ID : 2752281365
Status : Answered
Chosen Option : 2

Q.11 F &R =eran g1 arera J wgeh foran &:

Ans X" 1 merg e
7< 2. SRomefas fear
75 3. g R
o 4 T R

Question ID : 2752281362
Status : Answered
Chosen Option : 4




Q.12 ‘ardt e & uar femff ugd &1’ arera & vy fasivor &:
Ans  of 1. wRemErEE fdvor

25 2. e fagiyor

25 3. uRmmTaTee fstsor

X 4. Torars fgtor

Question ID : 2752281361
Status : Answered
Chosen Option : 1

Q.13 2YF 2AeE 1 9o FifSQ:
Ans X' 1 gt

W 2. arenfya

X 3. vardd

X 4.7

Question ID : 2752281367
Status : Answered
Chosen Option : 2

Q.14 oI 9T a1 YH &2

Ans X' 1 ycle g8l el el 39 &
X 2. 31Tt gHa T S uge 21
W 3. @ gy AT Far
X 4. 98 WY R T oA QT 81

Question ID : 2752281368
Status : Answered
Chosen Option: 3

Q.15 ‘T¥RT 2Teg # i AT Ueqd U<h §T 8?
Ans X1 @

Xow
Vviiw
X ax

Question ID : 2752281356
Status : Answered
Chosen Option: 3




Q.16 ‘FSradh ure $ 7 gt srufq aRe’ areier & forg ge g &:
Ans  of 1 sifthem

X 2. gefa

X 3. g

X 4 e

Question ID : 2752281366
Status : Answered
Chosen Option : 1

Q.17 9u ¥ wR faaer &&=Am - & forg sfa gerarr &:
Ans X 1. S chaRA

X 2. s

25 3. ST e

o 4 s are e

Question ID : 2752281370
Status : Answered
Chosen Option: 3

Q.18 =1 & & &1, $f3ar e & argar A?
Ans X' 1. Sifef fRe

X 2. A weR

X 3. o wfef

Y R

Question ID : 2752281374
Status : Answered
Chosen Option : 4

Q.19 2019-20 &Ft ¥t =TT @HE HH! & YAaH FHYT J79 & SR, ¥ (§S A) &1 afa
feRieet =gmam gud gea @ 87

Ans  of 1 1835
X 2.1,845
X 3.1,820
75 41825

Question ID : 2752281385
Status : Answered
Chosen Option : 2




Q.20 WRd & iy ur fFaa auf & fremR-fasf & ag gwer frg me?
Ans X 1. uig

X 2@

W 3.dF

X 4R

Question ID : 2752281381
Status : Answered
Chosen Option : 3

Q.21 wrety ufasgfa ok fafera &t (SEBI) i womamm &a g8 f?
Ans X" 1,12 arfiel 1989

X 2.12 3T 1986
W 3. 1238w 1988
X 4.12 3T 1987

Question ID : 2752281387
Status : Answered
Chosen Option : 2

Q.22 = & @ FH-T1 AER, WG IH & 14 T & T7aTH ! QR h= & 915, 3 atedr 9o
3 i a1e F FATIT SIar 82

Ans X" 1 et
W 2 Rarh
75 3. emde
X 4.8

Question ID : 2752281372
Status : Answered
Chosen Option : 2

Q.23 RA & HRAUT HT FF-TT TS I T Ugel THFGT § & §?
Ans X 1. argee 16

o 2 s 4

X 3.3 15

75 4 a3

Question ID : 2752281382
Status : Answered
Chosen Option : 2




Q.24 WA & d@fdu & fraw wiferer wdea &2
Ans  of 111

X 2.9

X 312

5 48

Question ID : 2752281384
Status : Answered
Chosen Option : 1

Q.25 & é faRtuarsii & suR R A & usr 6 ugaE R

(a) FoT ST &
(b) o1 g e & F g &
(c) e QT
(d) arft <t ger St ATAT YROT AT B
Ans X1 e gt
X 2 g
W 3 R g

X 4. g

Question ID : 2752281379
Status : Answered
Chosen Option: 1

Q.26 =& & &9 U fgarerht 7 i &7
Ans 1 fiy

W 2

X 3. 7RI

X 4.

Question ID : 2752281377
Status : Answered
Chosen Option : 2

Q.27 WRAH S R uomell % rfeptet 3 SR R i 71 ot
Ans X' 1 &ifé Rifte

X 2. 5 Ardeden

X 3 @ Raa

o 4t HRm

Question ID : 2752281380
Status : Answered
Chosen Option : 3




Q.28 ST FHHETST TaTd THGEAT FRI______ H =147 7717 T
Ans  of 1 1784

X 2.1750
X 3.1745
X 4.1754

Question ID : 2752281373
Status : Not Answered
Chosen Option : --

Q.29 fReTwa sridte frgaafa ____ d gd o
Ans X" 1 i

p PR i

v s

X 4. ufeem

Question ID : 2752281375
Status : Answered
Chosen Option : 1

Q.30 fore adf, Sk 31Ttk I<S1aT (BoB) Teh WEHAh deh oI+ T1AT?
Ans X" 1 1966

X 2.1976

X 3.1970

W 41969

Question ID : 2752281386
Status : Answered
Chosen Option : 4

Q.31 YRd & iU @t situamRes wu @ frg aef sra=mar mar ar?
Ans &K 1.1947

X 2.1955

75 3.1948

o 41949

Question ID : 2752281383
Status : Answered
Chosen Option : 4




Q.32 =1 & & -9 AgENR 'S’ & IHTHR FT §?
Ans X 1. fEe HgRTR

X 2. i HgrEmR

W 3. srewiifs TeraTR

X 4. zfEofl wgramR

Question ID : 2752281378
Status : Answered
Chosen Option : 3

Q.33 R o 3Rt Y Rrert et & anfiarer e o e 22
Ans 1 wE

X 2.9

W 3.°r

X 4.ui

Question ID : 2752281376
Status : Answered
Chosen Option: 3

Q.34 = seR-wag Rw e § B @ O Tl 7 el e @ wEe § ol o see &) Ruw serag
F TIF T

Ans - X1 KPTG
X 2. NMDW
v : EVHQ
X 4 GTPK

Question ID : 2752281392
Status : Answered
Chosen Option: 3

WP e gy & e e §2

Ans X115
X286
X 3 21
v 4 30

Question ID : 2752281404
Status : Answered
Chosen Option : 4




Q.36 37 37 W T TOT FL I HET T F T F TIUT FT FEG 0T TAHUS I B

g, HE, F9, S, ages

«(©0O

Ans
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Question ID : 2752281402

Status : Answered

Chosen Option: 4

Q37 = gmen # v REa (?) F aforE W FFT T AR # 99T H

B2D4, F6HS8, J10L12, ?
Ans X1 M14P15
X 2 P16R18
v 5 N14P16
X 4 015Q17

Question ID : 2752281389

Status : Answered

Chosen Option: 3




Q38 Crrer sjmer & yea FrEA (7) F GfOTUIRG I THS IR & F ATA F

31, 38, 52, 73, ?
Ans of 1101
X2 91
X3 81
X4 111

Question ID : 2752281400
Status : Answered
Chosen Option : 1

Q39 = Z, QA THE R, VA EATEE, T, RA TN E T, Z R A §ak P v & weaw
s EA QPR e 87

Ans xm aa
X2 oS
VaE cic)
K 4. SIHG

Question ID : 2752281398
Status : Answered
Chosen Option : 3

Q.40 w= 3= %z smar &, HOP TOP COP & 377 § ‘Rose is Red’, POP HOP HOT #r 3% ¥ ‘My Red Car’
3T DOT COP NOT &7 3% ¥ & ‘Shirt is Black'| &7 & & 37 7 F7 =97 #{ 5t 'Rose’ F RBw == ¥

ans 1. HOP
X 2 DOT
V'3 TOP
X 4 COP

Question ID : 2752281397
Status : Answered
Chosen Option: 3

QM G smen F TeAaEE e (?) F 9w W TS T FEREE-HEE F 99T H
ZXA, WVF, TTK, QRP, ?
ans X1 NQP
X 2. MPO
v 3 NPU
X 4+ MPU

Question ID : 2752281390
Status : Answered
Chosen Option : 3




Q42 =7 faweT & T F, A IWY o W B 3 W F TS § W YR WU o, Wg oee W
el 3

foaw : wie o S| 7
Ans 51, 37ETET

v 2 T
X3 i
Ko e

Question ID : 2752281393
Status : Answered
Chosen Option : 2

Q43 &= = g Tow fw o E O @ A T 7 Bl e ¥ wEe R ow s B s & s
e gIE A

Ans X1 (7, 56)
X< 2 (9, 90)
X3 (4, 20)
v 4 (11, 131)

Question ID : 2752281401
Status : Answered
Chosen Option: 4

Q44 o fafRaa e oo #, CAT &t 24 & &7 & oG =mar §1 DOG = 3@ swr & 5w war foran
AT

Ans X122
X2 25
v 26
X423

Question ID : 2752281394
Status : Answered
Chosen Option: 3

Q45w aemdr @ ¥, EE B R, B F wET, I S e, e @ ake A whe @ der
FET T & 3 FiT F T Far g

Ans &1 BT
X 2 e
v o wTer
X 4 e

Question ID : 2752281396
Status : Answered
Chosen Option: 3




Q46 Gy = oreg v av ¥ Roed @ A R 7 B g @ wEw § ek ow s B
H ¥ RwE @ awa w5
Ans (1ﬂ7{
X 2 &=
P
X4 ey

Question ID : 2752281391
Status : Answered
Chosen Option: 4

Q.47 frw 1w aE F 39 o 1 G F REwn ¥ S R a - {5, et i g - e
f =78 ¥ fras O 5 U &5 UF AW S 27

TERd

8

16 0\

Ans “ 1. 5

Question ID : 2752281403
Status : Answered
Chosen Option: 4

Q.48 v AfPag =T amr &, ‘MAN' ' PBQ 3T ‘HEN' & KFQ f3rar =mar &1 34 & oamer § ‘DOG™ &r
T v for@r smeen?

Ans X1 FPI
X 2 GRJ
V'3 GPJ
X 4 EPH

Question ID : 2752281395
Status : Answered
Chosen Option : 3
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Ans

= oreel @1 v T wE # sty Y R R av et # @ md w1 owna 1

1. 2T
2. HUeHe

3. ArTeAeET
4. FTAEAT
5. TiT

X4, 2,
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X3 4,5,
v 41, 4,
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N = s L

e XA wE § afeeE R e B
X 2
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X A Ted § g RO g
v
'A' 3R 'R g4 Fer & 3R 'R, A’ & TEr O gl
Question ID : 2752281399
Status : Answered
Chosen Option : 4
Q.50

Question ID : 2752281388

Status : Answered

Chosen Option: 4
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